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ĶōŏŉŜőŞō�ļōŖśō
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3-9		:+G�Ċ�ĸŚōśōŖŜ�īŗŖŜőŖŝŗŝś�ĶōŏŉŜőŞō�ļōŖśō

aŴ�Ŗŗş�ŵ�ŚőŏŐŜ�Ŗŗş��Ů�5!!=Mů
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Ŀō�ŉŚō�ŖŗŜ�ŔőśŜōŖőŖŏ�ŚőŏŐŜ�ŖŗşŴ

ıŜ�őś�ŖŗŜ�ŕŗŞőŖŏ�ŉŜ�ŜŐō�ŕŗŕōŖŜŴ
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śōōőŖŏŴ
ŌŉŖŋőŖŏŴ
ŌŚŉşőŖŏŴ

is not

is ŵ ŉŕ ŵ ŉŚō not ŴaőŖŏ
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It is not
śőŜŜőŖŏŴ

It is not
ŕŗŞőŖŏŴ

It is not
ŚŉőŖőŖŏŴ

It is not
ŎŉŔŔőŖŏŴ

It is not
ŎŔŗŉŜőŖŏŴ
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Choose the correct answer
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ı�ŉŕ�ŖŗŜ�ŌŚőŖœőŖŏ�ŋŗŎŎōōŴ

ĻŐō�őś�ŖŗŜ�şōŉŚőŖŏ�ŉ�śœőŚŜŴ

İō�őś�ŖŗŜ�ōŉŜőŖŏ�ŘőŢŢŉŴ

ļŐōš�ŉŚō�ŖŗŜ�ŘŔŉšőŖŏ�ŎŗŗŜŊŉŔŔŴ

Circle what is NOT in the sentence
5ĉ:!#+8F*�E-Ċ//�	-)+A#�=LH)ĉ�+��:)#+8F*�
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Ŀō�ŉŚō�ŖŗŜ�ŊŝšőŖŏ�ŊŉŏśŴ

ĵš�ŊŚŗŜŐōŚ�őś�ŖŗŜ�ŔōŉŚŖőŖŏ�ĻŋőōŖŋōŴ

ĵŉŠ�őś�ŖŗŜ�şŉőŜőŖŏ�ŎŗŚ�ŜŐō�ŜŉŠőŴ

ļŐō�ŉŖŜś�ŉŚō�ŖŗŜ�ŋŉŚŚšőŖŏ�ŋŉŖŌšŴ

Circle what is NOT in the sentence
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It is not
śőŜŜőŖŏŴ

It is not
ŕŗŞőŖŏŴ

It is not
ŚŉőŖőŖŏŴ

It is not
ŎŉŔŔőŖŏŴ

It is not
ŎŔŗŉŜőŖŏŴ
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Answer : Circle what is NOT in the sentence
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Ŀō�ŉŚō�ŖŗŜ�ŊŝšőŖŏ�ŊŉŏśŴ

ĵš�ŊŚŗŜŐōŚ�őś�ŖŗŜ�ŔōŉŚŖőŖŏ�ĻŋőōŖŋōŴ

ĵŉŠ�őś�ŖŗŜ�şŉőŜőŖŏ�ŎŗŚ�ŜŐō�ŜŉŠőŴ

ļŐō�ŉŖŜś�ŉŚō�ŖŗŜ�ŋŉŚŚšőŖŏ�ŋŉŖŌšŴ

Answer : Circle what is NOT in the sentence
D�-*�Ģ�5ĉ:!#+8F*�E-Ċ//�	-)+A#�=LH)ĉ�+��:)#+8F*�

3):*D3�@�Ģ�)=+A#(:&�=L�A	�Ċ5�):		/ĉ:�a�+A#


